


B7]
@ (0, 2) © 1, -1 © (-1 2)
@ (3, -5) @ (-2, 3)

De,0 @0, 00,60 ®oee 66,0




s

.?_

o
=

of, x AH

]

mo]y o] -9 ¢

y=3x+b2 17



O

13

O

il

v

o mol

2~
s
c

Ct-

6x-3y-9=029 29 7| &7 E a, x HHS
2t & o, abe ©] k= otol et

b

> Y



149k y = ax + b ] 1 Z7} A 1A}

4y =bx—a 2 1

o

(tha#0,b#0

9

o] mopo g oo 7 o

=

Sk
=]

—~




.

Ul



AN

A7y =3x+2 9 L3

@ 2 3 3

A 1



Aol 4 (3, a)

@ 2 3 3 @ 4 B 5

D1



08 5 QAT y = dx -39 T 3t Ao $ AL
]
& 71271% ~40lh,
© vgEe ol
© yaEe 300
® 1 %7 % % 9l ot

® B o5

Py = 4x + 113 AAZ,

[e)

OO0 @060 00066 @®e.oe 06 0.



10. T A y=2x+4, y=-2x+4 4 x 505 24U =9
Yol & Fatot

B
=¥



